Eispressioni letterali intere

Periodo 1 - UdA 7-8

Risolvere le seguenti espressioni
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32°(3x? — 2) — 8v + 2x(3x* + 1) — 3x°

3z — 2)(2® — 2) + 3z — (62 +4)(—22° + 1) — 1227
—4 — 2(23 — 3x% + 2 — 2) + 62° — 2(2° + 32?)

5a° + x%(x® + 2x) — ba® — (22° — 2)(3z* + 2 — 1)

32%(22° — x) — ot — 2(2® + 32%) + 622

—42%(2? + 322 — 20 — 3) — 1123 + (32% — 2)(4a® + x) + 22
20° + (x — 2)(2* = 3x + 1) = T2* — (2* — 2)(22* + = + 1)
x4 3z + 2% + 22) — 2 — 2(32* + 3z + 6)

T+ (r+2)(—22> + 2 —2) + 82* — (4x — 1)

— 42t 4+ 22(32° — 30 + 1 +2) +42° — (27 +2)(—
—x(x — 2x) + 62 + (—2° + 2)(22* — 3z) — 627

—(22% — 3z)(2* + . — 3) — 4a* + 2*(22% — x) + 4w

—122% — (62° + 4x)(—22° + x) + 32° + (32* — 22) (2 — 27)
—3z* 4+ 2(2 + 2% + 2x) + 3 — x(22° + 27 + 4)

—z*(—a® + 2* + 1) + 32° + (2% — x)(22° — 3x) — 227

(22° + 3z — 3)
o3+ 2%+ 27)



SOLUZIONI
Espressioni letterali intere  Periodo 1 - UdA 7-8

1 62° — 62 2 325 — 3z
B 25 — 2 4 1 —
5| 5at — 5a? 6 —4a” 4 4a°
u —92% + 9 S| —2?
9 —152° + 15z 10) 20 — 2°
11 —3z* + 327 12 5 — b
13| 320 — 3 14] —32% +3

15 3° — 3z



